Conce but Zon

Ŀ

$$\begin{split} & k \neq f(\alpha, p) = \sum_{x=i}^{N} \sum_{g=i}^{N} k(x, y) f(\alpha - x, p - y) \\ &= \sum_{x=0}^{N-1} \sum_{g=0}^{N-1} k(x, y) f(\alpha - x, p - y) \\ &= \sum_{x=0}^{N-1} \sum_{g=0}^{N-1} k(x, y) f(\alpha - x, p - y) \\ &= \frac{Reumse the order}{Reumse the order} \\ & k(0, 0) f(\alpha, p) + k(0, 1) f(\alpha, p - 1) + \cdots + k(0, N-1) f(\alpha, p - N+1) \\ &= k(1, 0) f(\alpha - 1, p) + k(1, 1) f(\alpha - 1, p - 1) + \cdots + k(1, N-1) f(\alpha - 1, p - N+1) \\ &= k(N-1, 0) f(\alpha - N+1, p) + k(N-1, 1) f(\alpha - N+1, p - 1) + \cdots + k(N-1, N-1) f(\alpha - N+1, p - N+1) \\ &= k(N-1, 0) f(\alpha - N+1, p) + k(N-1, 1) f(\alpha - N+1, p - 1) + \cdots + k(N-1, N-1) f(\alpha - N+1, p - N+1) \end{split}$$

$$= \frac{k(0,0)f(d,\beta) + k(0,N-1)f(d,\beta-N+1) + \cdots + k(0,1)f(d,\beta-1)}{+k(N-1,0)f(d-N+1,\beta) + k(N-1,1)f(d-N+1,\beta-1)} + \frac{k(N-1,0)f(d-N+1,\beta) + k(N-1,1)f(d-N+1,\beta-1)}{+k(1,0)f(d-1,\beta) + k(1,N-1)f(d-1,\beta-N+1)(-\cdots + k(1,1)f(d-1,\beta-1))}$$

$$Periodre:$$

$$= \frac{k(0,0)f(\alpha,\beta) + k(0,N-1)f(\alpha,\beta+1) + \cdots + k(0,1)f(\alpha,\beta+1) - 1)}{k(N-1,0)f(\alpha+1,\beta) + k(N-1,N-1)f(\alpha+1,\beta+1) - \cdots + k(N-1,1)f(\alpha+1,\beta+1) - 1)}$$

$$= \frac{k(1,0)f(\alpha+1,\beta) + k(1,N-1)f(\alpha+1) - \cdots + k(1,1)f(\alpha+1) - 1}{k(1,1)f(\alpha+1) - 1}$$

$$\frac{Example}{k(\alpha,\beta)} = -4f(d,\beta) + f(\alpha+1,\beta) + f(\alpha+1,\beta) + f(\alpha,\beta+1) + f(\alpha,\beta-1) +$$

$$k(0, 0) = -4$$

$$k(-(, 0) = 1$$

$$k(-(, 0) = 1$$

$$k(0, -1) = 1$$

$$k(0, -1) = 1$$

In Sudskiy starting from 1:

$$d_{z} = \begin{bmatrix} 0 \\ 0 \\ 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\frac{I}{k} \operatorname{woge} \frac{Sharpening}{f \in IR^{N \times N}} dean \operatorname{image}$$

$$\Delta f \text{ is Discrete (aplacium of f} (\frac{Sa}{\Delta f} \text{ is Discrete (aplacium of f} (\frac{Sa}{\Delta f} \text{ is } \frac{\delta^2 f}{\delta g} + \frac{\delta^4}{\delta g} \text{ if } f \text{ i} R^2 \to IR)$$

$$Oar discretization of & is given by:$$

$$\Delta f(x,y) = \left[f(x+1,y) - f(x,y)\right] \approx \frac{\delta^4}{\delta x} = \frac{\delta^2 f}{\delta y} + \left[f(x,y+1) - f(x,y)\right] \approx \frac{\delta^4}{\delta y} = \frac{\delta^2 f}{\delta y} = -\left[f(x,y) - f(x,y)\right] \approx \frac{\delta^4}{\delta y} \approx \frac{\delta^2 f}{\delta y} = -\left[f(x,y) - f(x,y)\right] \approx \frac{\delta^4}{\delta y} \approx \frac{\delta^2 f}{\delta y} = -\left[f(x,y) - f(x,y-1)\right] \approx \frac{\delta^4}{\delta y} \approx \frac{\delta^2 f}{\delta y} = -\left[f(x,y) - f(x,y-1)\right] \approx \frac{\delta^4}{\delta y} = -\left[f(x,y) + f(x,y-1)\right] = -\left[f(x,y) + f(x$$

When there is a Peak :

$$\frac{\partial^2 f}{\partial x^2}$$
 to and $\frac{\partial^2 f}{\partial y^2}$ to
=> $\Delta f'' vmy$ negative ''
when there is a valley :
 $\frac{\partial^2 f}{\partial x^2} > 0$, $\frac{\partial^2 f}{\partial y^2} > 0$
=> $\Delta f''' vmy$ positive ''





This is Called Laplacian Musleing.

Consider sphere time $\frac{\partial \underline{I}(x,y;t)}{\partial t} = \left\{ \int \frac{\partial^{2} \underline{I}(x,y;t)}{\partial x^{2}} + \frac{\partial^{2} \underline{I}(x,y;t)}{\partial x^{2}} \right\}$ where (x,y) EIR, t>0, $\tilde{I}(x,y;t) \in \mathbb{R}$ Tou can understand I as a movie, where the next forme is obtained by modifying the previous frame. Let Io(u, v) be an image. (first frame) $(x,y; () := \frac{1}{\sqrt{2}} - (x^2 + j^2)/2 + \frac{1}{\sqrt{2}}$ First Note that g satisfy the PDE: $\frac{\partial \phi}{\partial t} = -\frac{1}{\overline{n} + 3} e^{-(x^2 + y^2)/2t^2} + \frac{1}{\sqrt{n} t^2} e^{-(x^2 + y^2)/2t^2} \left(\frac{x^2 + y^2}{t^2}\right)$ $\frac{\partial g}{\partial x} = -\frac{1}{\sqrt{24}} e^{-(x^2 + y^2)/2t^2} \left(\frac{x}{4^2}\right)$ $\frac{j^{*}j}{j^{*}} = \frac{1}{2\pi} \left(e^{-\left(\chi^{*}+\gamma^{*}\right)\left(j^{*}\right)} \left(\frac{\chi}{4}\right)^{*} - \frac{1}{2\pi} e^{-\left(\chi^{*}+\gamma^{*}\right)\left(j^{*}\right)} \left(\frac{f}{4}\right)^{*} \right)$

Similar for
$$\frac{\partial^2 g}{\partial g^2}$$
,
then $\frac{\partial f}{\partial \xi} = \left(\frac{\partial^2 g}{\partial x^2} + \frac{\partial^2 g}{\partial g^2} \right).$

$$\frac{1}{2} (x, y; t) := g \times \frac{1}{2} (x, y)$$

$$= \int_{\mathbb{R}^{2}} g(x, v; t) \frac{1}{2} (x, y) du dv$$

derme the on time, integration on space,

$$\frac{\partial}{\partial t} = \frac{\partial}{\partial t} \int_{12}^{12} g(u, v; t) I_0(x-u, y-v) du dv$$

$$\frac{\partial I}{\partial t}(x_{i}y_{i}(t)) = \int_{\mathbb{R}^{2}} \frac{\partial I}{\partial t}(u, v_{i}(t)) \int_{0} (x - u_{i}y - v_{i}) du dv$$

$$= \int_{\mathbb{R}^{2}} \frac{1}{t} \frac{J^{2}y_{i}}{Ju^{2}} \int_{0} (x - u_{i}y - v_{i}) du dv$$

$$+ \int_{\mathbb{R}^{2}} \frac{1}{t} \frac{J^{2}y_{i}}{Jv^{2}} \int_{0} (x - u_{i}y - v_{i}) du dv$$

Integration by Power,
$$\begin{pmatrix} q, 3 \\ kt \infty, a \\ kt \infty, a \\ such that the important sense \end{pmatrix}$$

$$= \int_{-\infty}^{\infty} \int_{-\infty}^{-\infty} t g(u, v; t) \frac{d}{dv} J_{w}(3 \\ (x - u, y - v) du dv$$

$$+ \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} t g(u, v; t) \frac{d}{dv} J_{w}(3 \\ (x - u, y - v) du dv$$

$$+ \int_{-\infty}^{\infty} \int_{-\infty}^{-\infty} t g(u, v; t) \frac{d}{dv} J_{w}(3 \\ (x - u, y - v) du dv$$

$$(hhouse of controlle: x' = x - u, y' = y - v,$$

$$= \int_{-\infty}^{\infty} \int_{-\infty}^{-\infty} t g(x - x', y - y'; t) \left[(-t) \frac{d}{dx'}, J_{w}(x', y') \right] c dv' dy'$$

$$= \int_{-\infty}^{\infty} \int_{-\infty}^{-\infty} t g(x - x', y - y'; t) \left[(-t) \frac{d}{dy'}, J_{w}(x', y') \right] c dv' dy'$$

$$= \int_{-\infty}^{\infty} \int_{-\infty}^{-\infty} t g(x - x', y - y'; t) \left[(-t) \frac{d}{dy'}, J_{w}(x', y') \right] c dv' dy'$$

$$= \int_{-\infty}^{\infty} \int_{-\infty}^{-\infty} t g(x - x', y - y'; t) \frac{d}{dy'} J_{w}(x', y') dx' dy'$$

$$More = \frac{d}{dx} (f_{v} + f_{v}) = \frac{d^{4}}{dx'} + f_{v} = f_{v} + \frac{d^{4}}{dx'}$$

$$= f_{v} + \int_{-\infty}^{0} t g(x - x', y - y'; t) \int_{10}^{0} g(x - x', y - y', x) J_{w}(x')$$

$$= \int_{-\infty}^{0} \int_{-\infty}^{0} t g(x - x', y - y'; t) \int_{10}^{0} g(x - x', y - y', x) J_{w}(x')$$

$$= g + J_{w} = I$$

$$\frac{dJ_{w}}{dt} = t \quad \Delta I$$

$$i = g + J_{w} = I$$

